Questions: Seismic instruments, observables, measurement principles
Use c=/k for the first two problems!

1. Assume a plane wave polarized in y-direction propagating in x direction. Calculate the ratio between the peak amplitudes of the transverse acceleration and the vertical component of rotation rate. Use
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and a simple description of a plane harmonic wave 
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Can you say something about the waveforms of these two signals?

2. Do the same sort of calculation for the ratio of the translational velocity ux versus the strain component exx for a plane p-wave propagating in x direction
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Again … what about the waveforms?

3. Pick out the key statements from the just published paper on high-frequency GPS measurements by  Smalley (BSSA, 2009). 
_1321007081.unknown

_1321007380.unknown

_1321007395.unknown

_1321006934.unknown

